(RX]

WEZOER (BRE2B1ARAE B /)
ERF &
X 4 N - g FRIEFERHK
B B | BRRR | BEOER sams Tez¥Es | AERES
TR 74 3,854 3,120 734 392 929 2533
A1 24 3,621 2,882 739 257 879 1,746
ERTE 3,404 2,584 820 236 701 1,647
FRL224E 1493 582 911 161 137 284
(B BRELVYR)
B EHhEERENRRROHR (RE2R1BRE BAF)
K 4 i % m4os [0.3ha] 0.3~ [05~[1.0~][15~]2.0~]25~][3.0~]5.0ha
$#HE | &% | 0.5ha [ 1.0ha| 1.5ha|2.0ha | 2.5ha | 3.0ha|5.0ha| LLE
ERL125E 3,621 71 741 683[ 1,271 489 217 96| 37| 66 14
ERTEE 2,584 - 12 596| 1,071 447 195] 139] 74 19 1
ERL22%E 582 23] 78 166 180 67| 21 20 11 16
(BH BEMREEVYR)
B ERHEBOHES (BRFE2A1B1RE Eil:a)
X & HRmiE H J EXGIE]
TR T4 306,346 254,470 25,747 26,129
R 24E 277,556 238,429 20,060 19,067
TER174 261,280 229,252 16,627 15,401
224 236,051 219,203 6,410 10,438
(B EMREEVTR)
BEEEYOEMFERERVNES (ER24428 18I BT ha-t)
X 4 * N E NS X =2 EhE
ENmE| IEE | EMmE| EE |EAmEIES A mEIES A mE|IES
SERR26% | 1,480 [ 7,010 628 | 1,830 310 | 842 546 | 874 42 12,000
(BH: BMKERTER)
BEYRIEMAERRY - E4EE (RFEEM) (ER2242H81HRE Bii: 57 - a)
g = 5 WH%E = %5 B X
X o | B | BN | 1B | B | BN | MR | MR | BN | FERE| ARAE | 1B | B
ER | B B | mE |BR | mlE | B | o |BR| 5E | B | o
T AERT 36| 1910 1 x 2 x 5 x - - 11 %
FEET 4 1,033 X - - 4 515 - - 5 X
Efl=La) 29| 2,043 - - 1 x 1 x 2 x 21| 630
= KHT 54| 2575 - - - - 2 x 2 X 15[ 250
T 11 769 5 X - - 3 126 1 x 11| 455
EIE=T ) 13| 1,197 3 X - - 3 231 3| 108 14| 304
Cispllksxiing 58] 2,071 - - - - 2 x| 48| 2,833 21 X
(LN ET 70| 3,096 3 X 5 X 18 x| 11| 1,000 40| 603
L 5HT 17| 3726 13| 4469 1 x 9| 1505 - - 44| 1,051
E 292| 18420 27| 6672 9 22 47 x| 67| 4,053| 182| 4,895




ERBOBENHBERH (RTER)

(FR2282R18BE B F)

ENEA A ZOREE] A= <7 5% | 585 | %947
B0 mmm | BosEM | BUSEM | RS | BUSEM | RS | BEEN
AT 7 1 7 - 7 - 1
FBET - - - - - - -
S EAT i = 3 - - - -
AT 7 i i = = - 1
RAE | 12 2 Z - 1 = -
=)IZAT | 3 2 6 1 5 1 1
G i = = - - -
(LI 9T 6 i 3 7 3 - 1
LAE | 35 10 i 3 1 8 i
F 73 18 27 5 T 5 5
BE  BREL TR
BRSOHERR (REER) (224281 REAE)
= TRE ARE &K S TAAS5=
B | 5% | 7R | 5% | 7% | 5% | 7% | 9% | 7% | %
KHET | - - T x - - - - - -
FERT 1 X 3 196 1 X - - - -
Mam | - - 2 x - - - - - -
EAE | - - 21| 704 5] 2682] - - -
AT 7 25| 984| - - - - - =
EVEL 0 - 5 216 | - - - 1
A - s 402 - | 93 - - - .
LI ET 3 32| 25| 616] - | 39 T x - -
L HAT 2T x 0 963 = [ 131 | - - - =
st 8 X 120 X 6| 265 1 X 1 X
CHE - 1003) (BE  EREt 92
BEBOERRR  TH264E (1B1E~128318 B4 : - a)
“ % el | STEMM | ARAM %’g%gﬁ WM Z0Mt
BB mE | PR 5 | AR &0 | AE] &n | AE] an | A5 an | A5 an
135 [ 1577 45| 219 1 5T 0 01 75 999 14| 338 O] 0
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